This is a tragicomedy about basic mathematical operations on algebraic expressions (polynomials). Main characters – IB Mathematics HL group.

And the story begins.

Once upon a time there was a task to be solved. Its evil numbers and symbols tainted the land, water and air. In March 2006 eleven wizards gathered at the battlefield of Mock Examination to  destroy the evil shade. They had studied secret spells called addition, subtraction, multiplication and division. And this is what the chronicles say about this battle...
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Full marks are not necessarily awarded for a correct answer with no working. Answers mst be
Supported by working andor esplanations. In parteuiar, soltions found from a graphic disiay
Caleuotor should be supporied by suitable sorking, €. f graphs are used io fnd a soluion. 0
Shoudd sketeh these as part of your answer. - Where an anvwer is incorrect, some marks may be
ivem for  correct method. provided this is shown by wrien working. All stdents should
Trerefore be advised 1o Shovs their working. ~ Working. may be contimied below the fine, f
necessary.

1. The polynomial f(x)=+* + 3% 1-as-+ b leaves the same remainder when divided by (x-2) 35
when divided by (x-+1) . Find the value of a
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Full marks are ot necessarily awarded o a correct answer with no working. Answers must be
Supported by working andior esplanations. In particular, soluions found from a graphle display
caleulator shotld be supporied by suitable working. ¢.3. f graphe are used 1o fnd a soluion. you
hould sketch these s part of vour answer. Where an answer is incorrect, some marks may be
siven Jor a correct method, provided this is shown by writen working. Al sudents should
hercfore be advised 10 show their working.  Working may be coninied below the line, if
mecessary.

1. The polymomial /()= 2+ 35" ax b b leavesthe same remsinder when divided by (x~2) a5
hen divided by (s +1). Findthe vl of a.
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Full marks are ot necessaily awerded for @ correct answer with no working. Answers mist be
supported by working andlor explanations. I pariicular, solutions ound from a graphic dispay.
Culeulator showld be supporied by sitable working. ¢ f graphs ave wed i fnd a solurion.you
Choud sketch these as part of your answer. Where an answer s incorrec, some marks may be
ven for a correct method, provided. this is shown by writen working. Al suudons shovid
Uherefore be advised 1 show their working. ~ Working may be contnued below. the lies, f
ecessars.

1. The polsmomial /()= ' 36" ax - Teaves the same remaindr when divided by (x-2) a5
when divided by (x +1). Finthe valuwof .
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[l marks are ot mcessarily aearded fo a coreet answer with ro working. Ansvers mis be
upported by working andor explanaions. In partcular, souion foundJom o raphic dsply
calcattor showld b upporied by sutable workin, .. graphs are e 1o find a sluion.you
kvl setch these a prt of your anower. Where an e i icorec, some marks mey be
given for @ cormect method, provided this s shown by wrien workng. 4l shdets shoud
inreire be'advised 10 show ther working.  Working may be coninied below the s {f
ecessry

1. The polyomial /() + 357 .+ v the s rrmsindoe when divided by (x-2) 35
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il marks are ot necesarily awarded for o correct answer with no working,Answers mst be
supporte by working andior cxplanations. In particuar, souions found from a srophi dispay
caleuatorshould be supported by suitable working. 3. f sraphs e wsed o find a olution, you
Shoul sketch these a3 par of sour ancwer. Where an anwe is ncorree, some marks mcy b
iven for @ corvect method. provided. (his is shown by writen workng, Al strts shoukd
Therfore be cvised o shoe thei working,  Working may be contmmed below the line, if
ecessary.
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Full marks are not necessarily awarded for a correct answer with o working.  Answers must be
supporied by working andior explanations. In particular, solutions found from a graphic displa
caleulaior should be supported by sutable working. «s. 1 graphs are used 1o find a soluion, you
Should sketch these as part of your answer. Where an answer is incorrect, some marks may be
iven for @ correct method, provided this is shown by writen working. ~All students <hould
Thnerefore be advised 10 show their working.  Working may be contimed below the lines, if

1. The polsmomial /()= x'+3x" +.ax + b leaves the same remainder when divided by (x~2) 28
when divided by (x +1) . Find the value of
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Full marks are ot necessarily awarded for a correct answer with no working.  Answers st be
supporied by working andior explanations.  In pariicular, soludions found from a graphic dpiay
calculator should be supporied by sultable working. . f graphs are used o find @ soluion. you
should skeich these as part of your answer. Wheve an answer is incorrect, some marks may be
ivenfor @ correct method, provided this is shown by written working. Al sudents <hold
Uherefore be advised 10 show their working.  Working may be contimied belov the lines,
necessary

1. The polymomial f(x)= x” + 3x% +.ax-+ b leaves the same remainder when divided by (x—2) a5
when divided by (x +1). Find the value of
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Full marks are not necessarily awarded for  correct answer swith o working.  Answers must be
Ssupported by working andor esplanations. In pariicular, solutions foud from a graphic display
Caltulator shoutd be supported by suitable working. ¢5. f graphe are used 1o find a solution, you
Shouid sketch these as part of your answer. Where an answer is ncorrec, some marks may be
ivenfor  correct method. provided this is shown by writien working. AUl students should
Gherefore be advised o show their working,  Working may be contimied below. the lines, if

1. The polynomial £(x)= X" + 3" + ax-+  leaves the same remainder when divided by (£-2) 35
when divided by (x+1) . Find the value of
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Full marks are not necessarily awarded for  correct answer with no working. Answers must be
supporied by working arclor explanations. In particular, solions foud from a graphic display
Calculator shouid be supporied by suitable working. e f graphs are used 10 find & soluion, you
Should sketch these as part of your answer. Where an artwer is incorrect, some marks may be
eivon for & correct method. provided this is shown by writen working. Al sudents shouid
herefore be advised 10 show their working,  Working may be contimied below the line, f
necessary.

L. The polynomil /(s)= '+ 357 +-ax-+ 5 leaves the same remainder when divided by (~2) as
when divided by (x-+1). Find the value of .
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Full marks are not necessarily awarded for a correct answer with no working Answers mist be
supporied by working andor explanations. I pariculr, sluons fousl from a graphic diplay
calculator should be supported by suitable working. «. i graphs ave used 10 Jnd  soluon, you
Should sketh these as par of your answer. Where an answer s incorrec, some marks may be
Siven for @ correct method, provided this is shown by wrien working. Al students showld
lierefore be advised 1o show thir working.  Working may be contnued. below the lne, if
ecessary,

1. The polynomial /()= ' +3x'+.ax-+ b leaves the same remsidr when divided by (-2) a8
when divided by (x-+1). Findthe valueof .
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Fuil marks are not necessarily awarded for a correct answer with no working.  Answers mus be
supported by working andlor esplanations. In particular. solutions fousd from a graphic display
caleulator should be supported by sultable working, <. f graphs are used o find  soluion, you
should sketch these as part of your answer. Wiere an answer s ncorrect, fome marks may be
given for  correct method, provided this is shown by wriien working. All sudents should
Therefore be advised 10 show their working. Working may be continued below the lines, if
necessars.

L. The polymomial /()= 2+ 35" .-+ b leaves th same remainder when divided by (x-2) 38

when divided by (x +1). Find the value of a.




As you see, their magic was creative and reaching the sky. Only two wizards used standard, boring, down-to-earth spells. But don't worry, sooner or later they will show their mastership.

So if you are a student who can add and subtract and you hesitate whether to choose HL – don't! Join us!

